O—LYYETILOREGESEK A
1
) oC
2(®) a)oz—a)z—ia)l“o
1 —-iot eiiwt
t)=— w)e dooc do
21 ZE'[Z( ) J-a)oz—a)z—iaol“o

2 .
@, —o" —iwl, =0

> X
—iT, £ - T, + 4,
o= 0 0 2 -
2
1 . 1
w," —0* —iwT, (w-w,)o-0)
w=1=Xx+iy &ET 5,
t>0 DEETHEFEETEL. IDOBEABELESD
—izt
§ 5 c ———dz=0
Cw,” -7 -1I,Z
z=Re"’ dz=iRe”d6o
J_R e ixt dX_,_Jk”iRei@dg e—iRe"?t g~ iRcosd t+Rsin t sin@<0,t>0
R @," — X2 —iT,X 0 w,” —R%'? —il, Re"
—i(w_+&")t —i(o, +&)t
2z, . e 2T . e "
~ [ ie’do - - ~ [ Tie’do - - =0
0 (0 +®" -0 ) o +R" -—w) (o0, +®" -0, )@, +*" —w)
z=0 +&" =0, + %"
R—>wd—>0
o —ixt ox -t - —iw,t
[t~ [ido—— ~ ["ido =0
@, — X" =X 0 o -, P w, — 0.
—imt -t —iw,t
I 5 ez —dw = 2ri 1 27i -8 0, — o =+bo,’ -T,
o, -0 —lal 0 -, W, —@._
. e_%t i 4%2_F°2t i 4%2_r°2t
= 2ri (e 2 —e 2 )
4(002 —F02
e_%t 2
=2r sin(y|w,” = =2 1)
2
L
4
_Lo, >
1 -io 1 1N,¢q? et 1 N, q° 2 , T
20 =y “do=——e [ O gu==T08 B (e, -2 1)
27 2t &, V MY @ -0’ -ioT, &V m [, r? 4
@," ———

t<0 DEEX Y y(t)=0

A




WE g — L 2 YEFTLORER

1 1
o~ ot y(w)o« = _
° (@) a)oz—a)z—ia)Fo (v, — o) (@, + ®)—ioT,
1 1 1

~
~

(T,/2=1/T,)

(@0 — )20, -1, Ty (@g—@)=iT12 (w0, —)—i/T,
ZE oiewe ™™V o7 — U =W o(t): AT v T
IF FRT I 2 B DS SR B E TR W D 1T 0K 2

LU IZ @A

_20¢ 2

2=~ [ z(w)e " do= &7 sin(a-t) fort>0  (t)=0fort<0
2 & \Y ) Foz 4

<Dﬁﬂﬂrﬁza)meam*”%m@%t)=—%00m*”%€%ﬁ4¥%3

1
(0, + @) +11T,
o=, E X IFE2EOALE Z UL I CEEDMERRIELE LTHED)

O 7 — U A5 oc [[-i0()e ™ e ot = FEHIBIHEIEIT o~ 0, & & IR TE Z

il
Iy
1 Lot 1N, g2 e? I,
;((t)=2—_|.;((a))e doo ==~ ———sin( a)oz—%t) fort>0  y(t)=0fort<0
4 % aﬁ_EL
4
DExE
®) oc
Z(®) a)oz—a)z—ia)l“o
—&t 2 2 2
1 N,q°e 2 . 2 I 2 2 I 2 2 I
H=—-—90"1 sinlmt) o=+l - o =0,"-—*- o =u"+-2*
x(t) GV om o (o) o o 4 | o 4 o ! 4
D& E
1 1
z(m)m 2 2 - = 2
@y 0" —lol, a)12+ri—a)2—ia)l"O



